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NEW QUESTION 1
Which two statements are true about date/time functions in a session where NLS_DATE_FORMAT is set to DD-MON-YYYY HH24:MI:SS? (Choose two.)

A. CURRENT_TIMESTAMP returns the same date and time as SYSDATE with additional details of fractional seconds

B. SYSDATE can be queried only from the DUAL table

C. CURRENT_DATE returns the current date and time as per the session time zone

D. SYSDATE can be used in expressions only if the default date format is DD-MON-RR

E. SYSDATE and CURRENT_DATE return the current date and time set for the operating system of the database server
F. CURRENT_TIMESTAMP returns the same date as CURRENT_DATE

Answer: BC

NEW QUESTION 2
You execute this query:
SELECT TO_CHAR(NEXT_DAY(LAST_DAY(SYSDATE), ‘MON"), ‘dd “Monday for” fmMonth rrrr’) What is the result?

A. It executes successfully but does not return any result

B. It returns the date for the first Monday of the next month
C. It generates an error

D. It returns the date for the last Monday of the current month

Answer: B

NEW QUESTION 3
Which two statements are true regarding Oracle database space management within blocks managed by Automatic Segment Space Management (ASSM)?
(Choose two.)

A. PCTFREE defaults to 10% for all blocks in all segments for all compression methods

B. ASSM assigns blocks to one of four fullness categories based on what percentage of the block is allocated for rows
C. Update operations always attempt to find blocks with free space appropriate to the length of the row being updated
D. Insert operations always attempt to find blocks with free space appropriate to the length of the row being inserted
E. A block will always be eligible for inserts if the row is short enough to fit into the block

Answer: CE

NEW QUESTION 4
The SALES_Q1 and USERS tablespaces exist in one of your databases and TEMP is a temporary tablespace. Segment creation is not deferred.
You execute this command:

CREATE USEER sales
IDENTIFIED BY sales 123
DEFAULT TRABLESPACE sales gl
TEMEPOEARY TABLESPACE temp
QUOTZ 5M CON ussrs;

Which three statements must be true so that the SALES user can create tables in SALES _Q1? (Choose three.)

A. The sales user must have a quota on the TEMP tablespace

B. The sales user must have a quota on the SALES QL1 tablespace to hold the initial extends of all tables they plan to create in their schema
C. The sales user must have been granted the CREATE SESSION privilege

D. The sales user must have their quota on the users tablespace removed

E. The sales user must have a quota on the SALES_Q1 tablespace to hold all the rows to be inserted into any table in their schema

F. The sales user must have been granted the CREATE TABLE privilege

Answer: BDF

NEW QUESTION 5

In the SALES database, DEFERRED_SEGMENT_CREATION is TRUE. Examine this command:
SQL> CREATE TABLE T1(cl INT PRIMARY KEY, c2 CLOB);

Which segment or segments, if any, are created as a result of executing the command?

A. T1, an index segment for the primary key, a LOB segment, and a lobindex segment
B. no segments are created

C. Tl only

D. T1 and an index segment created for the primary key only

E. T1, an index segment for the primary key, and a LOB segment only

Answer: C

NEW QUESTION 6

The EMPLOYEES table contains columns EMP_ID of data type NUMBER and HIRE_DATE of data type DATE.

You want to display the date of the first Monday after the completion of six months since hiring.

The NLS_TERRITORY parameter is set to AMERICA in the session and, therefore, Sunday is the first day on the wee.
Which query can be used?
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A. SELECT emp_id, ADD_MONTHS(hire_date, 6), NEXT_DAY('MONDAY’) FROM employees;

B. SELECT emp_id, NEXT_DAY(ADD_MONTHS(hire_date, 6), ‘MONDAY") FROM employees;

C. SELECT emp_id, NEXT_DAY(MONTHS_BETWEEN(hire_date, SYSDATE), 6) FROM employees;
D. SELECT emp_id, NEXT_DAY(ADD_MONTHS(hire_date, 6), 1) FROM employees;

Answer: B

NEW QUESTION 7
Which three statements are true regarding indexes? (Choose three.)

A. A UNIQUE index can be altered to be non-unique

B. A SELECT statement can access one or more indices without accessing any tables

C. A table belonging to one user can have an index that belongs to a different user

D. An update to a table can result in updates to any or all of the table’s indexes

E. When a table is dropped and is moved to the RECYCLE BIN, all indexes built on that table are permanently dropped
F. An update to a table can result in no updates to any of the table’s indexes

Answer: ADE

NEW QUESTION 8
Which two statements are true about single row functions? (Choose two.)

A. MOD : returns the quotient of a division operation

B. FLOOR : returns the smallest integer greater than or equal to a specified number
C. TRUNC : can be used to combine any number of values

D. CONCAT : can be used to combine any number of values

E. CEIL : can be used for positive and negative numbers

Answer: AC

NEW QUESTION 9
Which two statements are true about the rules of precedence for operators? (Choose two.)

A. The concatenation operator | | is always evaluated before addition and subtraction in an expression
B. NULLS influence the precedence of operators in an expression

C. The + binary operator has the highest precedence in an expression in a SQL statement

D. Arithmetic operators with equal precedence are evaluated from left to right within an expression

E. Multiple parentheses can be used to override the default precedence of operators in an expression

Answer: CE

NEW QUESTION 10
Examine the description of the EMPLOYEES table:

Names Null? Type

EMP ID NOT NULL NTUMEEER

EMEP NAME VARCHARZ (40)
DEPT ID NUMEBEER (2)
SALARY NUMEBER (S,2)
JOIN DATE DATE

Which query is valid?

A. SELECT dept_id, AVG(MAX(salary)) FROM employees GROUP BY dept_id;

B. SELECT dept_id, join_date, SUM(salary) FROM employees GROUP BY dept _id;

C. SELECT dept_id, join_date, SUM(salary) FROM employees GROUP BY dept_id, join_date;
D. SELECT dept_id, MAX(AVG(salary)) FROM employees GROUP BY dept_id;

Answer: B

NEW QUESTION 10

You want to write a query that prompts for two column names and the WHERE condition each time it is executed in a session but only prompts for the table name
the first time it is executed.

The variables used in your query are never undefined in your session. Which query can be used?

A. SELECT &&coll, &&col2FROM &tableWHERE &&condition = &&cond;
B. SELECT &coll, &col2FROM &&tableWHERE &condition;

C. SELECT &coll, &col2FROM “&table”"WHERE &condition;

D. SELECT ‘&&coll’, ‘&&col2’FROM &tableWHERE ‘&&condition’ = ‘&cond’;
E. SELECT &&coll, &&col2FROM &tableWHERE &&condition;

Answer: B
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NEW QUESTION 11
Evaluate these commands which execute successfully:
CREATE SEQUENCE ord_seq
INCREMENT BY 1
START WITH 1
MAXWVALUE 100000
CYCLE
CACHE 5000;

CREATE TABLE ord_items (
ord_no NUMBER(4) DEFAULT ord_seq NEXTVAL NOT NULL,
item_no NUMBER(3),
qty NUMBER(3),
expiry_date DATE,
CONSTRAINT it_pk PRIMARY KEY (ord_no, item_no),
CONSTRAINT ord _fk FOREIGN KEY (ord _no) REFERENCES orders (ord_no));

Which two statements are true about the ORD_ITEMS table and the ORD_SEQ sequence? (Choose two.)

A. If sequence ORD_SEQ is dropped then the default value for column ORD_NO will be NULL for rows inserted into ORD_ITEMS

B. Any user inserting rows into table ORD_ITEMS must have been granted access to sequence ORD_SEQ

C. Column ORD_NO gets the next number from sequence ORD_SEQ whenever a row is inserted into ORD_ITEMS and no explicit value is given for ORD_NO
D. Sequence ORD_SEQ cycles back to 1 after every 5000 numbers and can cycle 20 times

E. Sequence ORD_SEQ is guaranteed not to generate duplicate numbers

Answer: BE

NEW QUESTION 13
Which three statements are true about the Oracle Data Dictionary? (Choose three.)

A. Data dictionary views are created by joins of dictionary base tables and DBA-defined tables

B. The data dictionary is created and maintained by the database administrator

C. Views with the same name but different prefixes, such as CDB, DBA, ALL and USER, reference the same base tables from the data dictionary
D. Base tables can be queried directly

E. It is owned by the SYSTEM user

F. Usernames of all users including database administrators are stored in the data dictionary

Answer: CDF

NEW QUESTION 14

A script abc.sgl must be executed to perform a job.

A database user HR, who is defined in this database, executes this command:
$ sqlplus hr/hr@orcl @abc.sql What will happen upon execution?

A. The command succeeds and HR will be connected to the orcl and abc.sqgl databases

B. The command succeeds and HR will be connected to the orcl database instance, and the abc.sql script will be executed
C. The command fails because the script must refer to the full path name

D. The command fails and reports an error because @ is used twice

Answer: B

NEW QUESTION 16
In which three situations does a new transaction always start? (Choose three.)

A. when issuing a SELECT FOR UPDATE statement after a CREATE TABLE AS SELECT statement was issued in the same session

B. when issuing a TRUNCATE statement after a SELECT statement was issued in the same session

C. when issuing a CREATE TABLE statement after a SELECT statement was issued in the same session

D. when issuing the first Data Manipulation Language (DML) statement after a COMMIT OR ROLLBACK statement was issued in the same session
E. when issuing a CREATE INDEX statement after a CREATE TABLE statement completed successfullyin the same session

F. when issuing a DML statement after a DML statement failed in the same session

Answer: ADF

NEW QUESTION 19

Which two are true about a SQL statement using SET operators such as UNION? (Choose two.)

A. The data type group of each column returned by the second query must match the data type group of the corresponding column returned by the first query.

B. The number, but not names, of columns must be identical for all SELECT statements in the query.
C. The data type of each column returned by the second query must exactly match the data type of the corresponding column returned by the first query.
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D. The names and number of columns must be identical for all SELECT statements in the query.
E. The data type of each column returned by the second query must be implicitly convertible to the data type of the corresponding column returned by the first

query.

Answer: AC

NEW QUESTION 21
A database is configured to use automatic undo management with temporary undo enabled. An UPDATE is executed on a temporary table.
Where is the UNDO stored?

A. in the undo tablespace

B. in the SYSAUX tablespace
C.inthe SGA

D. in the PGA

E. in the temporary tablespace

Answer: A

NEW QUESTION 22

The ORCL database has RESUMABLE TIMEOUT = 7200 and DEFERRED_SEGMENT_CREATION = FALSE

User Ul has a 1 MB quota in tablespace DATA. U1 executes this command:

SQL> CREATE TABLE t1 AS

(SELECT object_name, sharing, created FROM dba_objects);

U1l complains that the command is taking too long to execute.

In the alert log, the database administrator (DBA) finds this: 2017-03-06T12:15:17.183438+05:30

statement in resumable session ‘User U1(136), Session 1, Instance 1’ was suspended due to ORA-01536: space quota exceeded for tablespace ‘DATA’
Which are three actions any one of which the DBA could take to resume the session? (Choose three.)

A. Add a data file to DATA

B. Drop other U1 objects in DATA

C. Increase Ul's quota sufficiently in DATA

D. Set DEFERRED_SEGMENT_CREATION to TRUE
E. Grant UNLIMITED TABLESPACE to Ul

F. Set AUTOEXTEND ON for data files in DATA

Answer: CDF

NEW QUESTION 27
Which three statements are true concerning logical and physical database structures? (Choose three.)

A. All tablespaces may have one or more data files

B. The extents of a segment must always reside in the same datafile
C. A smallfile tablespace might be bigger than a bigfile tablespace
D. A segment can span multiple data files in some tablespaces

E. A segment’s blocks can be of different sizes

F. A segment might have only one extent

G. Segments can span multiple tablespsaces

Answer: CFG

NEW QUESTION 32
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